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Fa a transaction at price pm ( price mam) , utility is
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If there was no trade ( required to compute surplus) :
-
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- buyer : gets pm units of money ,
which provides utility :

V. Em = (F) ÷+× . E.
. IFI
"

-
Seller enjoys surplus from trade :

s -

- ftp.t.IE - Ept
"

All prices are the same
, given by price man , so pⁿ=p .

S = ¥ . EÉ
. (Hp)

- " < s > °
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FOC from household 's problem : used to compute
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Conclusion : •
seller surplus : S > 0

• buyer surplus : B > 0
•
total surplus from math ;

1- = S + B > 0


